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सामाɊ िनदőशः  
(i) यह Ůʲ पũ पाँच खǷो ंमŐ िवभािजत है - खǷ क , खǷ ख, खǷ ग, खǷ घ एवं खǷ M-। इस Ůʲ पũ मŐ 

कुल 40 Ůʲ हœ। 
(ii) सभी Ůʲ अिनवायŊ हœ, यȨिप कुछ Ůʲो ंमŐ आंतįरक चयन उपलɩ है। उनमŐ मŐ से िकसी एक Ůʲ को ही करŐ । 
(iii) Ůʲो ंके सामने उनके िनधाŊįरत अंक िलखे Šए हœ। 
(iv) खǷ ‘क’ (Ůʲ संƥा 1 से 27 तक) 1 अंक वाले वˑुिनʿ Ůकार के Ůʲ हœ।  
(v) खǷ ‘ख’ (Ůʲ संƥा 28 से 31 तक) मŐ 3 अंक वाले लघु उȅरीय Ůʲ हœ। Ůȑेक Ůʲ के उȅर 80 शɨो ंसे 

अिधक नही ंहोने चािहए। 
(vi) खǷ ‘ग’ (Ůʲ संƥा 32 से 35तक) मŐ 4 अंक वाले दीघŊ उȅरीय Ůʲ हœ। Ůȑेक Ůʲ के उȅर 120  शɨो ंसे 

अिधक नही ंहोने चािहए। 
(vii) खǷ ‘घ’ (Ůʲ संƥा  36 से  39 तक) मŐ  5  अंक वाले योƶता आधाįरत  /ŷोत आधाįरत /केस आधाįरत Ůʲ 

हœ।  
(viii) खǷ M- Ůʲ संƥा 40 एक मानिचũ आधाįरत Ůʲ है जो 4 अंको ंका है िजसमŐ 40.1 इितहास से सɾंिधत 2 

अंको ंका मानिचũ कायŊ और 40.2 भूगोल से सɾंिधत 3 अंको ंका मानिचũ कायŊ है | 
(ix) मानिचũ आधाįरत Ůʲ संƥा 40 के ̾थान पर ̊िʼबािधत िवȨािथŊयो ंके िलए अलग से Ůʲ िदए गए हœ। 

 
General Instructions: 

(i) The question paper is divided into five sections- Section A, Section B, Section C, 
Section D and Section E. The question paper has 40 questions in all. 

(ii) All questions are compulsory; however internal choice is given in some questions. 
Attempt any one of them. 

(iii) Marks are indicated against each question. 
(iv) Section A (Questions from serial number 1 to 27) has objective questions of 1 mark 

each.  
(v) Section B (Questions from serial number 28 to 31) are short answer type questions 

of 3 marks each. Answer of these questions should not exceed 80 words each. 
(vi) Section C (Questions from serial number 32 and 35) are long answer type questions 

of 4 marks each. Answer of these questions should not exceed 80 words each. 
(vii) Section D (Questions from serial number 36 to 39) are competency based/source 

based/ case based questions, carrying 5 marks each.  
(viii) Section E (Question number 40) is a map based question of 5 marks, in which 40.1 is 

History related map work of 2 marks while 40.2 is Geography related map work of 3 
marks.  

(ix) Separate questions are given for visually impaired student only in lieu of map 
based question number 40. 



 
 [k.M d ¼oLrqfu’B iz”u½ 

Section A (Objective Type Questions) 
1x27=27 

 iz”u la[;k 1 ls 12 rd lgh fodYi dk p;u dhft,A 
Choose  the correct option in Question 1 to 12. 

 

1 fuEufyf[kr esa ls dkSu & lk mRiknu dk  dkjd ugha gS\  

A. Hkwfe 

B. Je 

C. iwath 

D. mijksDr esa ls dksbZ ugha 

Which among the following is NOT a factor of production? 

A. Land 

B. Labour 

C. Capital 

D. None of the above. 

1 

2 esjs fe= ,d ,sls ns”k ds fuoklh gSa ftl ns”k dh lhek Hkkjr ds lkFk ugha yxrh 

gSA crkb, og dkSu & lk ns”k gS\  

A. HkwVku 

B. rkftfdLRkku 

C. ckaXykns”k 

D. usiky 

My friend hails from a country that does not share a land boundary with 

India. Identify the country. 

A. Bhutan  

B. Tajikistan  

C. Bangladesh 

D. Nepal 

1 

3 fuEufyf[kr esa ls dkSu Hkkjrh; lafo/kku lHkk ds lnL; ugha Fks\     

A. Mk- Hkhejko vEcsMdj 

1 



B. Mk- jktsUnz izlkn 

C. Tk;iky flag 

D. egkRek xka/kh 

Which among the following was NOT a member of the Constituent 

Assembly of India? 

A. Dr. Bhim Rao Ambedkar 

B. Dr. Rajendra Prasad 

C. Jaipal Singh 

D. Mahatma Gandhi 

4 xyr feyku dh igpku dhft,A        

A. jkscsLI;sj & “kkld 

B. yqbZ XVI & “kkld 

C. tkWu ykWd & “kkld 

D. usiksfy;u & “kkld 

Find the INCORRECT Match. 

A. Robespierre  –  Ruler 

B. Louis XVI – Ruler 

C. John Locke – Ruler 

D. Napoleon  - Ruler 

1 

5 1794 rd Ýkal dh eqnzk dkSu lh Fkh\      

A. fyozs  

B. :i;k 

C. MkWyj 

D. Vdk 

What was the currency of France until 1794? 

A. Livre 

B. Rupee 

1 



C. Dollar 

D. Takka 

 
6 Vkby ls vki D;k le>rs gSa\      

A. lh/ks jkT; dks vnk fd;k tkus okyk djA 

B. Ýkal dh eqnzkA 

C. ppZ }kjk olwyk tkus okyk djA 

D. mijksDr esa ls dksbZ ughaA 

What do you understand by Taille? 

A. Tax  paid directly to the state. 

B. The currency of France. 

C. A Tax levied by the church. 

D. None of the Above. 

 

1 

7 uhps fn, x, iz”u esa] nks izkDdFku fn, x, gSa & ,d ladYiuk¼al½ vkSj nwljk 

dkj.k ¼d½A dFkuksa dks if<+, vkSj lgh fodYi dk p;u dhft,A  

ladYiuk ¼l½% v:.kkpy ,oa xqtjkr ds le; esa nks ?k.Vs dk varj gSA 

dkj.k ¼d½% Hkkjr dh ekud le; js[kk dk eku 820 30^ gSA 

fodYi% 

A. ladYiuk ¼l½ ,oa dkj.k ¼d½ nksuksa lgh gaS ,oa dkj.k] ladYiuk dh lgh 

O;k[;k gSA 

B. ladYiuk ¼l½ ,oa dkj.k ¼d½ nksukas lgh gSa ijUrq dkj.k] ladYiuk dh lgh 

O;k[;k ugha gSA 

C. ladYiuk ¼l½ lgh gS ,oa dkj.k ¼d½ xyr gSA 

D. ladYiuk ¼l½ xyr gS ijarq dkj.k ¼d½ lgh gSA 

In the question given below, there are two statements marked as Assertion 
(A) and Reason (R). Read the statement and choose the correct option: 
Assertion:(A) There is a difference of two hours in time between Arunachal  
Pradesh and Gujarat. 
Reason:(R) The Prime Meridian of India is 820 30^- 

1 



Option: 

A. Both Assertion (A) and Reason (R) are true and R is the correct 
explanation of A. 

B. Both Assertion (A) and Reason (R) are true but R is not the correct 
explanation of A. 

C. Assertion (A) is correct and Reason (R) is Incorrect. 
D. Assertion (A) is Incorrect but Reason (R) is correct.  

 
8 buesa ls dkSu & lk rdZ yksdra= ds i{k esaa gS\  

A. yksdra= esa yksx [kqn dks Lora= vkSj leku ekurs gSaA 

B. yksdrkaf=d O;oLFkk,¡ nwljksa dh rqyuk esa Vdjkoksa dks T;knk vPNs ls 

lqy>krh gSaA 

C. yksdrakf=d ljdkjsa yksxksa ds izfr T+;knk mÙkjnk;h gksrh gSaA 

D. mijksDr lHkhA 

Which among the following is/are a good argument (s) in favour of 

Democracy? 

A. People feel themselves free and equal in a democracy. 

B. Democracies resolve conflict in a better way than others. 

C. Democratic government is more accountable to the people. 

D. All of the above. 

1 

9 uhps fn, x, iz”u esa] nks izkDdFku fn, x, gSa & ,d ladYiuk¼al½ vkSj nwljk 
dkj.k ¼d½A dFkuksa dks if<+, vkSj lgh fodYi dk p;u dhft,A   
      
ladYiuk ¼l½% ftu ns”kksa ds ikl lafo/kku gS oss ns”k yksdrkaf=d gksa] ;g t:jh ugha 
gSA 
dkj.k ¼d½% lafo/kku flQZ “kklu dh i}fr ds fo’k; esa tkudkjh nsrk gSA 
 
fodYi% 

A. ladYiuk ¼l½ ,oa dkj.k ¼d½ nksuksa lgh gaS ,oa dkj.k] ladYiuk dh lgh 
O;k[;k gSA 

B. ladYiuk ¼l½ ,oa dkj.k ¼d½ nksukas lgh gSa ijUrq dkj.k] ladYiuk dh lgh 
O;k[;k ugha gSA 

C. ladYiuk ¼l½ lgh gS ,oa dkj.k ¼d½ xyr gSA 
D. ladYiuk ¼l½ xyr gS ijarq dkj.k ¼d½ lgh gSA 

1 



In the question given below, there are two statements marked as Assertion 
(A) and Reason (R). Read the statement and choose the correct option: 

Assertion:(A) Countries that have a constitution are not necessarily 
democratic. 

Reason:(R) The constitution only gives information about the system of 
governance. 

Option: 
A. Both Assertion (A) and Reason (R) are true and R is the correct 

explanation of A. 
B. Both Assertion (A) and Reason (R) are true but R is not the correct 

explanation of A. 
C. Assertion (A) is correct and Reason (R) is Incorrect. 
D. Assertion (A) is Incorrect but Reason (R) is correct.  

 
10 vBkgjoha “krkCnh esa Ýkal dk lekt fdrus ,LVsV esa cVk gqvk Fkk\     

A. ,d  
B. nks 
C. rhu 
D. pkj 

In how many Estates was the French society  divided in the Eighteenth 
Century?  

A. One 
B. Two 
C. Three 
D. Four 

 

11 uhps fn, x, iz”u esa] nks izkDdFku fn, x, gSa ,d ladYiuk¼al½ vkSj nwljk dkj.k 

¼d½A dFkuksa dks if<+, vkSj lgh fodYi dk p;u dhft,A   

ladYiuk ¼l½% xk¡oksa esa ekSleh csjkstxkjh cgqrk;r ikbZ tkrh gSA 

dkj.k ¼d½% d`f’k ij vkfJr gksus ds dkj.k dbZ yksxksa  dks dbZ ekg csjkstxkj cSBuk 

iM+rk gSA 

fodYi% 

A. ladYiuk ¼l½ ,oa dkj.k ¼d½ nksuksa lgh gaS ,oa dkj.k] ladYiuk dh lgh 

O;k[;k gSA 

B. ladYiuk ¼l½ ,oa dkj.k ¼d½ nksukas lgh gSa ijUrq dkj.k] ladYiuk dh lgh 

O;k[;k ugha gSA 

1 



C. ladYiuk ¼l½ lgh gS ,oa dkj.k ¼d½ xyr gSA 

D. ladYiuk ¼l½ xyr gS ijarq dkj.k ¼d½ lgh gSA 

In the question given below, there are two statements marked as Assertion 

(A) and Reason (R). Read the statement and choose the correct option:   

Assertion:(A) Seasonal unemployment is found in abundance in the villages.  
Reason:(R) Being dependent on agriculture, many people have to remain  

unemployed for several months. 
Option: 

A. Both Assertion (A) and Reason (R) are true and R. is the correct 
explanation of A. 

B. Both Assertion (A) and Reason (R) are true but R is not the correct 
explanation of A. 

C. Assertion (A) is correct and Reason (R) is Incorrect. 
D. Assertion (A) is Incorrect but Reason (R) is correct.  

 
12 fuEufyf[kr esa ls fdl dkuwu ds }kjk Hkkjr ljdkj us 2005 esa xzkeh.k 

{ks=ksa esa 100 fnu ds jkstxkj dks lqfuf”pr fd;k\ 
A. Ldwy pys ge 
B. dke ds cnys vukt 
C. egkRek xk¡/kh jk’Vªh; xzkeh.k jkstxkj xkjaVh vf/kfu;e 
D. iz/kkuea=h jkstxkj ;kstuk 

Which among the following Act was passed by the Government of 
India in 2005 to ensure minimum 100 days employment in rural 
areas? 

A. Let’s go to school 
B. Food for Work 
C. Mahatma Gandhi National Rural Employment Guarrantee 

Act 
D. Prime Minister Rozgar Yojna 

 

1 

13  fjDr LFkku dh iwfrZ dhft,A 

ikyeiqj dh izeq[k vkfFkZd fØ;k -------------------------------------- gSA 

Fill in the Blank with appropriate Answer. 

……………… is the main economic activity of Palampur.  

1 



14  js[kkafdr rF;ksa dks lgh djds okD; dks fyf[k,A 

n fLifjV vkWQ n ykWt iqLrd dh jpuk :lks us dh FkhA 

Rewrite the Statement after correcting the underlined Phrase. 

The book ‘The Spirit of the Laws’  was written by Rousseau. 

 

1 

15  lR; vFkok vLkR; crkb,A 

,d o’kZ esa fdlh Hkwfe ij ,d ls T;knk Qly dh  iSnkokj djus dks cgqfo/k Qly 

iz.kkyh dgrs gSaA 

State Whether True or False. 

To grow more than one crop on a piece of land during the year is known as 

multiple cropping. 

1 

16 fuEufyf[kr fLFkfr;ksa dks if<,+ vkSj crkb, fd lacaf/kr O;fDr jkstxkj esa gaS ;k 
csjkstxkj gSa\ 
fnus”k fnYYkh esa ,d fngkM+h etnwj gSaA og izR;sd fnu 150 : dekrs gaS tcfd 
izpfyr nSfud etnwjh mudh vk; ls vf/kd gSaA 
Read the following situation carefully and state whether the person 
concerned is employed or unemployed.       
Dinesh works as a daily wage labourer in Delhi. He earns Rs.150 per day 
whereas the going wages are more than his daily earnings. 
 

1 

17 fuEufyf[kr tkudkjh dks if<+, vkSj mlds fy, ,d ikfjHkkf’kd “kCn fyf[k,A 
^ge lHkh ,slk vkpj.k djsa tSls fd ge ,d ifjokj ds lnL; gksaA dksbZ Hkh ukxfjd 
fdlh nwljs ukxfjd dks vius ls derj u ekusA^     
Read the following information and write single term for it. 
‘All of us should behave as if we are members of the same family. 
No one should treat a fellow citizen as inferior’. 
 

1 

18  fjDr LFkku dh iwfrZ dhft,A 
vDVqcj 1999 esa ikfdLrku esa lSfud r[rkiYkV dh vxqokbZ --------------------------------------------
----- us dhA    
Fill in the Blank with appropriate Answer. 
 ……………………………. led a military coup in Pakistan in October  
1999. 

1 

19 efgek ekykckj rV ij gSA og bl ckr dks ysdj nqfo/kk esa gS fd og iwohZ rVh; 1 



eSnku ij gS ;k if”peh rVh; eSnku ijA crkb, orZeku esa efgek Hkkjr ds fdl 

rVh; eSnku ij gS\   

Mahima is at the Malabar Coast. She is a little bit confused about whether 

she is on the Eastern Coastal plains or Western Coastal plains of India. State 

on which  Indian Coastal plains is  Mahima currently present. 

20 ^lekurk^ “kCn ls vki D;k le>rs gSa\ 
vFkok 

^U;k;^ “kCn ls vki D;k le>rs gSa\ 
  
What do you understand by the word ‘Equality’? 

OR 
What do you undertand by the word ‘Justice’?      

1 

21  ekuo iw¡th D;ksa egRoiw.kZ gS\ 
Why is human capital  important? 

1 

22 Hkkjr dh LFky lhek js[kk dk foLrkj crkb,A 
Mention  the expansion of land boundary of India. 

1 

23 yksdra= ds foi{k esa ,d rdZ fyf[k,A  
Write an argument against the democracy.  

1 

24 csjkstxkjh dks ifjHkkf’kr dhft,A 

Define the term Unemployment.  

1 

25 lektokn ls vki D;k le>rs gSa\ 
What do you understand by the term Socialism.  

1 

26 fla/kq unh ra= dh fdlh ,d unh dk uke crkb,A 
vFkok 

ueZnk unh fdl unh ra= dk fgLlk gS\ 
Name any one river of Sindhu River system.  

OR 
Which river sytem Narmada river  is part of ?  

1 

27 yksdra= dks ifjHkkf’kr dhft,A 
What do you understand by Democracy? 

1 

 [k.M [k ¼y?kq mÙkjh; iz”u½ 
Section B (Short Answer type Questions) 

3X4=12 

28 lksfo;r la?k ¼:l½ esa LVkfyu dk lkewfgdhdj.k dk;ZØe dSls ykxw fd;k x;k Fkk\ 
How was  Stalin’s collectivization programme implemented in United Soviet 
Socialist Republic (Russia)? 

3 

29 fdlh ns”k dks ekud le; js[kk dh vko”;drk D;ksa iM+rh gS\ Hkkjr dh ekud 
le; js[kk dk eku crkb,A 

Why does any country need standard time? Mention the Standard Meridian 

3 



of India. 

30 Þyksdra= esa vafre fu.kZ; ysus dh “kfDr yksxksa }kjk pqus gq, izfrfuf/k;ksa ds ikl gh 
gksuh pkfg,AÞ dFku dk fo”ys’k.k dhft,A 

vFkok 
^Lora= ,ao fu’i{k pquko yksdra= dh ,d vko”;d “krZ gSA^ dFku dk fo”ys’k.k 
dhft,A 
“In a democracy, the final decision-making power must rest with those 

elected by the people”. Analyze this statement. 

OR 

‘Free and fair election is a necessary condition of Democracy’. Analyze the 

statement. 

3 

31 vkfFkZd fØ;kvksa ls vki D;k le>rs gS\ vkfFkZd fØ;kvksa dks fdrus oxksaZ esa 
foHkkftr fd;k tkrk gS\ mnkgj.k lfgr crkb,A 

vFkok 

vkids {ks= esa dh tkus okyh fdUgha ik¡p xSj d`f’k fØ;kdykiksa dh lwph cukb,A 

What are economic activities? In how many parts are economic activities 
divided? Explain with examples.  

OR 

List five main non – farming activities of your area. 

3 

 [k.M x ¼nh?kZ & mÙkjh; iz”u½ 
Section C ( Long Answer Type Questions) 

4X4=16 

32 fgeky; dks Hkkjr ds fy, ojnku D;ksa ekuk tkrk gS\ 
vFkok 

izk;}hih; Hkkjr dh fo”ks’krkvksa dk o.kZu dhft,A 
Why is the Himalayas considered as the boon for India? 

OR 
Explain the importance of Peninsular India.  
 

4 

33 Hkkjrh; lafo/kku lHkk ds lkeus izeq[k pqukSfr;k¡ dkSu & dkSu lh Fkha ,oa mudk 

lkeuk mUgksaus fdl izdkj fd;k\ 

What are the major challenges before the Indian Constituent Assembly and 

how did they face them? 

4 

34 f”kf{kr csjkstxkjh dh leL;k dks nwj djus ds gsrq f”k{kk O;oLFkk esa dqN lq/kkj ds 
mik, lq>kb,A 
Suggest some measures of reforms in education to mitigate the problem of 

4 



the educated unemployed.  

35 Ýkalhlh Økafr ls fudys fopkjksa dk mYYks[k dhft, tks vkus okys le; esa nqfu;k 

ds fy, vkn”kZ lkfcr gq,A 

vFkok 

l=goha “krkCnh esa Ýkalhlh lekt dh ifjfLFkfr;ksa dk o.kZu dhft,A 

Mention the ideas that emerged from the French Revolution that proved to 

be ideal for the word in future. 

 OR 

Explain the social conditions of the French Society in the 17th century. 

4 

 [k.M ?k ¼lzksr@dsl & vk/kkfjr iz”u½ 
Section D ( Source/Case –Based Questions) 

5x4=20 

36 vuqPNsn dks Ik<+dj iwNs x, iz”uksa d mÙkj nhft,A 
 
िविभɄ गितिविधयो ंको तीन मुƥ Ɨेũो ंअथाŊत Ůाथिमक, िȪतीयक और तृतीयक मŐ वगŎकृत िकया गया है। 
Ůाथिमक Ɨेũक मŐ कृिष, वािनकी, पशुपालन, मȘ पालन, मुगŎ पालन, खनन और उȂनन शािमल हœ। 
िȪतीयक Ɨेũ मŐ िविनमाŊण शािमल है। ʩापार, पįरवहन, संचार, बœिकंग, िशƗा, ˢा˖, पयŊटन, सेवाएं, बीमा 
आिद तृतीयक Ɨेũ मŐ शािमल हœ। इस िŢयाकलापो ंके पįरणामˢŝप वˑुओ ंऔर सेवाओ ंका उȋादन 
होता है। ये िŢयाकलाप रा Ō̓ ीय आय मŐ मूʞ- वधŊन करते हœ। ये िŢयाएँ आिथŊक िŢयाएँ कहलाती हœ। 
आिथŊक िŢयाओ ंके दो भाग होते हœ - बाजार िŢयाएँ और गैर-बाजार िŢयाएँ। बाजार िŢयाओ ंमŐ वेतन या 
लाभ के उȞेʴ से की गई िŢयाओ ंके िलए पाįरŵिमक का भुगतान िकया जाता है। इनमŐ सरकारी सेवा 
सिहत वˑुओ ंया सेवाओ ंका उȋादन शािमल है। गैर-बाजार िŢयाओ ंसे अिभŮाय ˢ-उपभोग के िलए 
उȋादन हœ। 
36.1  रा Ō̓ ीय आय के मूʞ संवधŊन मŐ शािमल हœ- 

A. Ůाथिमक Ɨेũ से वˑुओ ंऔर सेवाओ ंका उȋादन 
B. िȪतीयक Ɨेũ से वˑुओ ंऔर सेवाओ ंका उȋादन 
C. तृतीयक Ɨेũ से वˑुओ ंऔर सेवाओ ंका उȋादन 
D. उपरोƅ सभी 

 
36.2  चावल की खेती िकस Ɨेũक के अंतगŊत आएगी ? 

A. Ůाथिमक Ɨेũक 
B. िȪतीयक Ɨेũक 
C. तृतीयक Ɨेũक 
D. इनमŐ से कोई नही ं

 
36.3  कूįरयर सेवाएं एक उदहारण है- 

A. Ůाथिमक Ɨेũक 
B. िȪतीयक Ɨेũक 
C. तृतीयक Ɨेũक 
D. इनमŐ से कोई नही ं
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36.4 वे िŢयाकलाप जो वेतन या लाभ के िलए की जाती हœ, कहलाती हœ- 

A. बाजार गितिविधयां 
B. गैर -बाजार गितिविधयां  
C. A और B दोनो ं
D. इनमŐ से कोई नही ं

36.5 िकचन गाडŊन मŐ खुद के इˑेमाल के िलए सİɥयां उगाना िकस िŢयाकलाप अंतगŊत आएगा- 
A. सामािजक गितिविध 
B. बाजार गितिविध 
C. गैर -बाजार गितिविध  
D. उपरोƅ सभी 

Read the passage given below and answer the following question. 
The various activities have been classified into three main sectors i.e. primary, 
secondary and tertiary. Primary sector includes agriculture, forestry, animal 
husbandry, fishing, poultry farming, mining and quarrying. Manufacturing is 
included in the secondary sector. Trade, transport, communication, banking, 
education, health, tourism, services, insurance, etc. are included in the tertiary 
sector. The activities in this sector result in the production of goods and services. 
These activities add value to the national income. These activities are called 
economic activities. Economic activities have two parts — market activities and 
non-market activities. Market activities involve remuneration to anyone who 
performs i.e. activity performed for pay or profit. These include production of 
goods or services, including government service. Non-market activities are the 
production for self-consumption. 
36.1 National Income includes values from-  

A. Production of goods and services from primary sector 
B. Production of goods and services from secondary sector 
C. Production of goods and services from tertiary sector 
D. All of these 

36.2  Under which sector growing of rice will come? 
A. Primary sector 
B. Secondary sector 
C. Tertiary sector 
D. None of these 

36.3 Courier services are an example of- 
A. Primary sector 
B. Secondary sector 
C. Tertiary sector 

            D. None of these 
36.4 Those activities which are performed for pay or profit is called- 

A. Market Activities 
B. Non-market activities 
C. Both A and B 

            D. None of these 
36.5 Growing of vegetables in the kitchen garden for own use will come under- 

A. Social activity 
B. Market activity 
C. Non-market activity 



            D. All of these 
 

37 vuqPNsn dks Ik<+dj iwNs x, iz”uksa d mÙkj nhft,A 
िसंधु नदी का उȜम मानसरोवर झील के िनकट ितɬत मŐ है। पिʮम की ओर बहती Šई यह नदी भारत मŐ 
लȞाख से Ůवेश करती है। इस भाग मŐ यह एक बŠत ही संुदर दशŊनीय गाजŊ का िनमाŊण करती है। इस Ɨेũ 
मŐ बŠत-सी सहायक निदयाँ जैसे - जाˋर, नूबरा, ʴोक तथा Šंज़ा इस नदी मŐ कʳीर Ɨेũ मŐ िमलती हœ। 
िसंधु नदी बलूिचˑान तथा िगलिगत से बहते Šए अटक मŐ पवŊतीय Ɨेũ से बाहर िनकलती है। सतलुज, 
ɯास, रावी, चेनाब तथा झेलम आपस मŐ िमलकर पािकˑान मŐ िमठानकोट के पास िसंधु नदी मŐ िमल जाती 
हœ। इसके बाद यह नदी दिƗण की तरफ बहती है तथा अंत मŐ कराची से पूवŊ की ओर अरब सागर मŐ िमल 
जाती है। िसंधु नदी के मैदान का ढाल बŠत धीमा है। िसंधु ūोणी का एक-ितहाई से कुछ अिधक भाग भारत 
के जʃू-कʳीर, लȞाख, िहमाचल तथा पंजाब मŐ तथा शेष भाग पािकˑान मŐ İ̾थत है। 
37.1  िनɻिलİखत मŐ से कौन सी नदी/निदयाँ िसंधु नदी की सहायक नदी है? 

A. जाˋर 
B. नूबरा 
C. ʴोक 
D. उपरोƅ सभी 

 
37.2  कʳीर Ɨेũ मŐ िसंधु नदी से कौन सी नदी िमलती है?- 

A. Šंजा 
B. गंगा 
C. Ű˦पुũ 
D. झेलम 

 
37.3  िसंधु नदी का उȜम है- 

A. ितɬत 
B. लȞाख 
C. िमठानकोट 
D. कराची 

 
37.4 िनɻिलİखत मŐ से कौन सी नदी िसंधु नदी से िमठानकोट मŐ िमलती है? 
I. गंगा        II. रावी          III. चेनाब 

A. केवल I 
B. केवल II 
C. केवल I और II  
D. केवल II और III  

 
37.5 िसंधु नदी भारत मŐ िकस ̾थान से Ůवेश करती है? 

A. िहमाचल Ůदेश 
B. पंजाब 
C. अŜणाचल Ůदेश 
D. लȞाख 

Read the passage given below and answer the following question. 
The river Indus rises in Tibet, near Lake Mansarowar. Flowing west, it enters 
India in the Ladakh. It forms a picturesque gorge in this part. Several tributaries, 
the Zaskar, the Nubra, the Shyok and the Hunza, join it in the Kashmir region. The 
Indus flows through Baltistan and Gilgit and emerges from the mountains at 
Attock. The Satluj, the Beas, the Ravi, the Chenab and the Jhelum join together to 
enter the Indus near Mithankot in Pakistan. Beyond this, the Indus flows 

1x5=5 



southwards eventually reaching the Arabian Sea, east of Karachi. The Indus plain 
has a very gentle slope. With a total length of 2900 km, the Indus is one of the 
longest rivers of the world. A little over a third of the Indus basin is located in 
India Ladakh, Jammu and Kashmir, Himachal Pradesh and Punjab and the rest is 
in Pakistan. 
37.1  Which of the following river(s) is/are tributaries of Indus River? 

A. The Zaskar 
B. The Nubra 
C. The Shyok 
D. All of these 

37.2 Which river joins the Indus River in Kashmir region? 
A. The Hunza 
B. The Ganga 
C. The Brahmputra 
D. The Jhelum 

37.3 The River Indus originates from- 
A. Tibet 
B. Ladakh 
C. Mithankot 

            D. Karachi 
37.4 Which of the following river join Indus in Mithankot? 
     I. Ganga       II. The Ravi          III. The Chenab 
 

A. Only I 
B. Only II 
C. Only I and II 

            D. Only II and III 
 
37.5 In which region does the river Indus enter India? 

A. Himachal Pradesh 
B. Punjab 
C. Arunachal Pradesh 

            D. Ladakh 
38 vuqPNsn dks Ik<+dj iwNs x, iz”uksa d mÙkj nhft,A ¼fdUgha ik¡p dks dhft,½ 

हįरयाणा मŐ 1982 से कांŤेस पाटŎ की अगुवाई वाली सरकार थी तब िवपƗ के एक नेता चौधरी देवीलाल ने 
'Ɋाय युȠ' नामक आंदोलन का नेतृȕ िकया और लोकदल नामक अपनी नई पाटŎ का गठन िकया। उनकी 
पाटŎ ने चुनाव मŐ कांŤेस के İखलाफ़ अɊ िवपƗी दलो ंको िमलाकर एक मोचाŊ बनाया। अपने चुनाव Ůचार 
मŐ देवीलाल ने कहा िक अगर उनकी पाटŎ चुनाव जीती तो वे िकसानो ंऔर छोटे ʩापाįरयो ंके कजŊ माफ़ 
कर दŐ गे। उɎोनें वायदा िकया िक यही उनकी सरकार का पहला काम होगा।लोग तब की सरकार से 
नाखुश थे। वे देवीलाल के वायदे की तरफ आकिषŊत Šए। इसिलए, जब चुनाव Šए तो उɎोनें लोकदल और 
उसके सहयोगी दलो ं के पƗ मŐ जमकर वोट िदए। लोकदल और उसकी सहयोगी पािटŊयो ं को राǛ 
िवधानसभा की 90 सीटो ंमŐ से 76 पर जीत िमली। लोकदल को अकेले ही 60 सीटŐ िमली ंऔर उसे ˙ʼ 
बŠमत िमला। कांŤेस के हाथ तब िसफ़Ŋ  5 सीटŐ लगी।ं 
38.1 वषŊ 1985 मŐ हįरयाणा राǛ मŐ िकस राजनीितक दल का शासन था? 

A. लोकदल 
B. कांŤेस 
C. भारतीय जनता पाटŎ 
D. भारतीय कʄुिनː पाटŎ 
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38.2 लोकदल पाटŎ की ̾थापना िकसने की? 

A. ŵीमती इंिदरा गाँधी 
B. चौधरी देवीलाल 
C. चौधरी बंसीलाल 
D. चौधरी भजनलाल 

 
38.3 1987 के हįरयाणा िवधान सभा चुनाव मŐ िकस दल की जीत Šई? 

A. कांŤेस  
B. भारतीय जनता पाटŎ 
C. भारतीय कʄुिनː पाटŎ 
D. लोकदल 

 
38.4  हįरयाणा मŐ ‘Ɋाय युȠ’ आंदोलन की अगुआई िकसने की? 

A. चौधरी भजनलाल 
B. चौधरी बंसीलाल 
C. चौधरी देवीलाल 
D. चौधरी मनोहर लाल 

 
38.5 1987 मŐ हįरयाणा मŐ Šए िवधानसभा के चुनावो ंके दौरान चौधरी देवीलाल के Ɛा चुनावी वादे थे? 
I. िकसानो ंकी क़ज़Ŋ माफ़ी 
II. छोटे ʩापाįरयो ंकी क़ज़Ŋ माफ़ी 
III. बड़े उȨोगपितयो ंकी कजŊ माफ़ी 

A. केवल I 
B. केवल I और II  
C. केवल I और III  
D. केवल II और III  

38.6 िनɻिलİखत मŐ से सही कथन/ कथनो ंकी पहचान कीिजए- 
A. लोकदल और उसकी सहयोगी पािटŊयो ंको 1987 के राǛ  िवधानसभा मŐ ˙ʼ बŠमत िमला 
B. लोकदल को अकेले दो -ितहाई बŠमत Ůाɑ Šआ  
C. कांŤेस को केवल 5 5 सीटŐ िमली थी  
D. उपरोƅ सभी 

Read the passage given below and answer the following question. 
Haryana had been ruled by a Congress party led government since 1982. 
Chaudhary Devi Lal, then an opposition leader, led a movement called ‘Nyaya 
Yudh’ (Struggle for Justice) and formed a new party, Lok Dal. His party joined 
other opposition parties to form a front against the Congress in the elections. In the 
election campaign, Devi Lal said that if his party won the elections, his 
government would waive the loans of farmers and small businessmen. He 
promised that this would be the first action of his government. The people were 
unhappy with the existing government. They were also attracted by Devi Lal’s 
promise. So, when elections were held, they voted overwhelmingly in favour of 
Lok Dal and its allies. Lok Dal and its partners won 76 out of 90 seats in the State 
Assembly. Lok Dal alone won 60 seats and thus had a clear majority in the 
Assembly. The Congress could win only 5 seats. 
38.1  Which political party was ruling the state of Haryana in the year 1985? 

A. Lok Dal 
B. Congress 



C. Bharatiya Janata Party 
D. Communist Party of India 

 
38.2 Who formed the Lok Dal party? 

A. Smt. Indira Gandhi 
B. Chaudhary Devi Lal 
C. Chaudhary Bansi Lal 
D. Chaudhary Bhajan Lal 

 
38.3 Which party won the assembly election of Haryana in 1987? 

A. Congress 
B. Bharatiya Janata Party 
C. Communist Party of India 

            D. Lok Dal 
 
38.4 Who led the movement called ‘ Nyaya Yudh’ in Haryana? 

A. Chaudhary Bhajan Lal 
B. Chaudhary Bansi Lal 
C. Chaudhary Devi Lal 

           D. Chaudhary Manohar Lal 
 
38.5 What was the poll promise of Chaudhary Devi Lal during the assembly 
election of Haryana in 1987? 
                 I. Waiver of loans of farmers 
                II. Waiver of loans of small businessmen 
               III. Waiver of loans of big industrialists 
 

A. Only I 
B. Only I and II 
C. Only I and III 

           D. Only II and III 
38.6 Identify the correct statement/s? 
           

A. Lok Dal and its partners won clear majority in the assembly election 
held in 1987.  

B. Lok Dal single handedly won two-third majority. 
C. Congress won only 5 seats. 

           D. All of the above. 
39 vuqPNsn dks Ik<+dj iwNs x, iz”uksa d mÙkj nhft,A 

नाȖी िवचारधारा िहटलर के िवʷ ̊िʼकोण का पयाŊयवाची थी। इस िवʷ ̊िʼकोण मŐ सभी समाजो ं को 
बराबरी का हक नही ंथा, वे नˠी आधार पर या तो बेहतर थे या कमतर थे। इस नज़įरये मŐ ɰॉȵ, नीली 
आँखो ंवाले, नॉिडŊक जमŊन आयŊ सबसे ऊपरी और यšदी सबसे िनचली पायदान पर आते थे। यšिदयो ंको 
नˠ िवरोधी, यानी आयŘ का कǥर शũु माना जाता था। बाकी तमाम समाजो ंको उनके बाहरी रंग-ŝप के 
िहसाब से जमŊन आयŘ और यšिदयो ंके बीच मŐ रखा गया था। िहटलर की नˠी सोच चाʤŊ डािवŊन और 
हबŊटŊ Ő̇सर जैसे िवचारको ंके िसȠांतो ंपर आधाįरत थी। डािवŊन Ůकृित िवǒानी थे िजɎोनें िवकास और 
Ůाकृितक चयन की अवधारणा के ज़įरए पौधो ंऔर पशुओ ंकी उȋिȅ की ʩाƥा का Ůयास िकया था। 
बाद मŐ हबŊटŊ Ő̇सर ने 'अितजीिवता का िसȠांत' (सरवाइवल ऑफ़ द िफ़टेː) - जो सबसे योƶ है, वही 
िजंदा बचेगा- यह िवचार िदया। इस िवचार का मतलब यह था िक जो Ůजाितयाँ बदलती Šई वातावरणीय 
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पįरİ̾थितयो ंके अनुसार खुद को ढाल सकती हœ वही पृțी पर िजंदा रहती हœ। यहाँ हमŐ इस बात का ȯान 
रखना चािहए िक डािवŊन ने चयन के िसȠांत को एक िवशुȠ Ůाकृितक ŮिŢया कहा था और उसमŐ इंसानी 
हˑƗेप की वकालत कभी नही ंकी। लेिकन नˠवादी िवचारको ंऔर राजनेताओ ंने परािजत समाजो ंपर 
अपने साŲाǛवादी शासन को सही ठहराने के िलए डािवŊन के िवचारो ंका सहारा िलया। नाİȖयो ंकी दलील 
बŠत सरल थी: नˠ सबसे ताकतवर है वह िजंदा रहेगी; कमज़ो न Őɣ खȏ हो जाएँगी। आयŊ नˠ सवŊŵेʿ 
है। उसे अपनी शुȠता बनाए रखनी है, ताकत हािसल करनी है और दुिनया पर वचŊˢ कायम करना है। 
39.1 नाजी िवʷ ̊िʼकोण के अनुसार िनɻिलİखत मŐ से िकस नˠ को ŵेʿ माना जाता था? 

A. आयŊ 
B. यšदी 
C. दोनो ंबराबर थे 
D. इनमŐ से कोई नही ं

 
39.2  िवकासवाद और Ůाकृितक चयन का िसȠांत िकसने िदया? 

A. हबŊटŊ Ő̇सर 
B. सर आइजैक Ɋूटन 
C. रॉबटŊ Šक 
D. चाʤŊ डािवŊन 

 
39.3  िहटलर के अनुसार आयŘ का मुƥ शũु कौन था ? 

A. िजɛी 
B. पोʤ 
C. यšदी 
D. ŝसी 

 
39.4 चाʤŊ डािवŊन थे- 

A. एक संगीतकार 
B. एक लेखक 
C. एक नाटककार 
D. एक Ůाकृितक वैǒािनक 

 
39.5 हबŊटŊ Ő̇सर ने िकसका िवचार िदया था? 

A. िवकास 
B. Ůाकृितक चयन 
C. अितजीिवता का िसȠांत 
D. सापेƗता का िसȠांत 

Read the passage given below and answer the following question. 
Nazi ideology was synonymous with Hitler’s worldview. According to this there 
was no equality between people, but only a racial hierarchy. In this view blond, 
blue-eyed, Nordic German Aryans were at the top, while Jews were located at the 
lowest rung. They came to be regarded as an anti-race, the arch-enemies of the 
Aryans. All other coloured people were placed in between depending upon their 
external features. Hitler’s racism borrowed from thinkers like Charles Darwin and 
Herbert Spencer. Darwin was a natural scientist who tried to explain the creation 
of plants and animals through the concept of evolution and natural selection. 
Herbert Spencer later added the idea of survival of the fittest. According to this 
idea, only those species survived on earth that could adapt themselves to changing 
climatic conditions. We should bear in mind that Darwin never advocated human 
intervention in what he thought was a purely natural process of selection. 



However, his ideas were used by racist thinkers and politicians to justify imperial 
rule over conquered peoples. The Nazi argument was simple: the strongest race 
would survive and the weak ones would perish. The Aryan race was the finest. It 
had to retain its purity, become stronger and dominate the world. 
39.1 Which of the following race was considered to be superior according to Nazi 
worldview? 

A. Aryan 
B. Jews 
C. Both were equal 
D. None of these 

 
39.2  Who gave the theory of evolution and natural selection? 

A. Herbert Spencer 
B. Sir Isaac Newton 
C. Robert Hook 
D. Charles Darwin 

 
39.3 According to Hitler who was the main enemy of the Aryans? 

A. Gypsies 
B. Poles 
C. Jews 

           D. Russians 
 
39.4 Charles Darwin was - 

A. A musician 
B. An author 
C. A dramatist 

           D. A natural scientist 
 
39.5  Herbert Spencer gave the idea of-  

A. Evolution 
B. Natural selection 
C. Survival of the fittest 

           D. Theory of relativity 
 [k.M M- ¼ekufp= vk/kkfjr iz”u½ 

Section E ( Map Based Questions) 

1x5=5 

40 40.1 िवʷ के िदए गए राजनीितक रेखा मानिचũ पर दो ̾थान A और B अंिकत िकए गए हœ। इन 
दोनो ं̾थानो ंकी पहचान िदए गए िवशेषताओ ंके आधार पर कीिजए। 
A. वह देश जो िȪतीय िवʷ युȠ मŐ िमũ रा Ō̓ ो ंका िहˣा था। 
B. वह देश जो िȪतीय िवʷ युȠ मŐ धुरी रा Ō̓ ो ंका िहˣा था। 
 
On the given outline political map of the world two points are marked as A and 
B. Identify these points with the help of given characteristics. 
A. The country which was the part of Allied Power during Second World War. 
B. The country which was the part of Axis Power during the Second World War. 
 

1x2=2 



 
  

 
 
40.2 भारत के िदए गए राजनीितक रेखामानिचũ पर िनɻिलİखत मŐ से िकɎी ंतीन ̾थानो ंको 
दशाŊइए-                                                                                                                       1x3=3 

A. कोकंण तटीय मैदान 
B. मालवा का पठार 
C. अनाईमुडी पवŊत िशखर 
D. मालाबार  

 
On the given political outline map of India locate and label any three of the 
following- 

A. Konkan coastal plains 
B. Malwa Plateau 
C. Anai Mudi mountain peak 
D. Malabar 

 



 
 
 

िनɻिलİखत Ůʲ केवल ̊िʼबािधत िवȨािथŊयो ंके िलए Ůʲ संƥा 40.1 व 40.2 के ᭭थान पर 
ᳰदया गया ह।ै (कोई पांच)  
(i) उस देश का नाम िलİखए जो िȪतीय िवʷ युȠ मŐ िमũ रा Ō̓ ो ंका िहˣा था। 
(ii) उस देश का नाम िलİखए जो िȪतीय िवʷ युȠ मŐ धुरी रा Ō̓ ो ंका िहˣा था। 
(iii) वह राǛ जहाँ कोकंण तटीय मैदान İ̾थत है। 
(iv) वह राǛ जहाँ मालवा का पठार İ̾थत है। 
(v) वह राǛ जहाँ अनाईमुडी पवŊत िशखर İ̾थत है। 
(vi) वह राǛ जहाँ मालाबार तट है। 

 
This question is given only for visually impaired students in lieu of question no 
40.1 and 40.2  (Attempt any five). 
(i) Name a country which was the part of Allied powers during the Second 

World War. 
(ii) Name a country which was the part of Axis power during the Second World 

War. 
(iii) Name the state where Konkan coastal plains is located. 
(iv) Name the state where Malwa Plateau is located. 
(v) Name the state where Anai Mudi mountain peak is located. 
(vi) Name the state where Malabar coast is located. 
 

 


